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(1) Check the question paper for fairness of printing, If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw- diagrams.

Oy : @euelamggrer Bren@ LGSsmor Qsmamg).
o : This question paper contains four parts.
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1.

A={1,2), B={1, 2,3, 4], C=[5, 6) wppd D=(5, 6,7, 8} arafléd EGip LGS0

UL eneusafler erg sflwimer sapm ?
(=) (AXC) c (BxD) (<) BxD) c (AxC)
(8) (AxB) c (AxD) () (DxA)c (BxA)

IfA={1,2},B=(1,2,3,4},C={(5,6) and D= {5, 6, 7, 8}, then state which of the following
statement is true ?

(@) (AXC)c (BxD) (b) (BxD)c (AxC)

(© (AXB) c (AXD) (d) (DxA)c (BxA)

f)=x2—x erafle, f(x—1)—f(x+1)=
(<=1) 4x (=) 2-2x (@) 2-4x (FF) 4x-2
Let f(x) =x%—x, then f(x—1)—f(x+1) is :

(a) 4x (b) 2-2x ) 2-4x d) 4x-2

wéefligen aGsse gmans Canpsamst LWaUOSS, s Bles Wwpeilen
SMSMBULD 9 - wEGHEGWD Curg HeoLs@n Bser :

(2)01,8  (=)1,48 (@) 0,13 (rF) 1,A3,5

Using Buclid’s division lemma, if the cube of any positive integer is divided by 9, then
the possible remainders are :

(@ 01,8 (b) 1,48 (© 01,3 (d 1,35
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4. A=265 pHED B=264+263 42624 e 420 Gramds QarH&sLUL (HeTerg).
Gemeumeuameudbled 678 2-ewmano ?

(=) B -pang A -@ eflL 2% ofaid

s )A_‘mﬂ)m\b-B.-smb] : g ‘A B 3
3 2 A - o1 ofisd

L1

g B w

Lg%

: S s Lot BTy < |
(@) B is 2% more than |

* Aand B are equal

iy
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6. @ Hred oefuden, By ﬂu“b Wy <iemf :

(=) @@ e (<) epevavafl L oianfl
(@) Hre> oien (m) Beoy e
Transpose of a column matrix is : :

(a)  unit matrix (b) diagonal matrix
(©)  column matrix (d) row matrix

7 ALMN -6 ZL=60°, ypy o 50° . Guogytb ALMN ~ APQR ererlé 4R -6t whli -

(=) 40‘ (<) 70° (@) 30° () 110°

» LM = 50°. IfALMN ~ APQR, then the value of /R is :
(b) 70° (©) 30° (d) 110°

~M6U WITES OsmeiTL QJI.'_LQQGBT‘P & Ggﬁ@@srr@
s e
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10.

11.

5 3562 (NS)

x=11 erad QarHESUULL CrrEGHTLIqen FLerum_eadl :
(1) x -DNF&EHS Qe

(<) y -85 Gaem

(@) Huyered euflFblacgnd

() (0, 11) - erep yeitafl eullEGlEeeyd

The straight line given by the equation x=11 is :

(a) Parallel to x-axis

(b) Parallel to y-axis

(c) Passing through the origin

(d) Passing through the point (0, 11)

tan 0 + cot 8 = 2 eraléd tan® 0+ cot? 6 -&r FLIL :

(1) 0 (=) 1 (&) 2 () 4

If tan © + cot & = 2, then the value of tan2 0 +cot? 0 is :

(@ 0 (b) 1 () 2 (d) 4

o4 Qs.18. 2wrapd, 6 Q&5 TP 2L seflwamenflameéd QawwiulL

@(m FalDL e ¢(H Ayl Carerons rplerre, Camergden Lrid :

(1) 24 Q&.15. (<2p) 12 Q&.15. (@) 6 Qa.15. () 48 Q&5
p of clay of height 24 cm and radius 6 cm into a sphere,

A child reshapes a cone made u
then the radius of sphere is :

(@) 24cm (b) 12cm i (@ #6am (d) 48 cm
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12.

i18.

14.

N S .:9{61)@336ﬁ LT (P
T DAVGEHET 2y, TpaTer e GCaHTeTLILIHS) o HHSIULQ T

8 &0 Gamer LbgseTTe 2 &SILGEDS erafled 1y i 1p

T 14
(=1)2:1 (@3)1:2 (@) 4:1 (rF) 1

: i ach of radius
A spherical ball of radius r, units is melted to make 8 new identical balls e
I units. Thenr, :r,is:

(@), 2 (b) 1:2 (c) 4:1 (d)- 1:4

100 sreyur yareflsaflan srref 40 wpyb S Lelwssd 3 crafler efledsnigarf e
UTESE 5“(95@‘[“@ .

(1) 40000 (<1) 160900 (@) 160000 ( ) 30000

The mean of 100 observations is 40 and their standard dev1at10n is 3. The sum of
squares of all deviations is :

(@) 40000 (b) ' 160900 () 160000 (d) 30000

YBwE® TPSsIEEET {a, b, c,

=0 “5‘051@5@ @ s swaImLL
wermuller Cairey G&uﬁmuu@eﬁlm@ @ L‘

REDTS @) (HLILISDHE TN Bapssa, :
12 ; 1
Ta — 23
(=) 33 () 75 (@) % () 2%

If a letter is chosen at random fr,

om the Englj
probability that the letters chosen nglish al

Phabets {a,
Precedes g, is : &, b, c

s «w, 2}, then the

G o B L .
' 2 % ()
26
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u@# - 1I/PART - II

@iy sreneuCuenid 10 eflanTésEHaHE Aep_wessayb. eslem cram 28 -&®
10x2=20

sL_L_muons edenLwefl&se, .
28 is compulsory.

Note : Answer any 10 questions. Question No.

15. AxB={(,2) 3,4) 5,2 5 9} eraflév, A wpHmid B -& &GS

f AxB={3,2) 3.4 6 2) 6 4) then find A and B.

. . . . dr $
N> N Grem &L f(m)=m2+m+3 cran EUETLNSSLIULLT® 215 @NEG

16.
& ST

GRENTDTE FTTL| GTen
ined byf(m)=m2+m+3 is one-one function.

WLIG) GTERTEET arafl, eTps m -6 wHUILSEREG N % 5M GTETD 6T e
Qe Q,Om,ufo ?

for what values of m,

17. m WwHOID N o\ :
5 Gresm Q&&E5PEF
does 2» x 5™ end in 57

If m, n are natural numbers,

2 ; n @D @HEOD T

Ger QuTs o Uy an = ﬁ;n@@@m’_ml—ﬂdﬂ
: 2

n? if nis odd

: = ) 5
th £ a sequence, if An- S peeEs
Find the grd and 4 terms © B ifniseven

[Q@Dqs / Turn over
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19. 12+?2+32+ v 4107 6 WHUY srens. @)F bl mha 22+ 424624 .. 4202 -6
wﬁuq &Ters,

Find the value of 124224324 . 4102 ﬁnd hence deduce 22442462+ ...+ 202,

B DA

A

200 9243k +4=0 eranp @
‘ k & wHiy sraws.
Find the value of k for which the equation 912

HUQEEDSTIUM g 61 et Qo WwHmItb Fwoib 6rerfld

+3kx +4 =0 has real and equal roots.
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B
e 5 el T sing
24. BlemGssayd 1= sing _ 50cO + tan®
Pro 1-iﬂ’---sec9+tanﬂ
VN1 - sind

TI0) Gamergdler LpuiLriy 154 8.8, erafléd ogen eflL LD STETS.

“Find the diameter of a sphere whose surface area is 154 m?.

‘base area of a hemispherical solid is 1386 sq. metres,. then find its total surface
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u@# - 1I/PART - 111
G&PIOY : aemaCugb 10 eflannésenis eileniwefldsan. eflenr erem 42 -6,
SLLmuwns oflan welldsab. 10x5=50

Answer any 10 questions. Question No. 42 is compulsory.
29. Acreug 8 -m oSl @eopeurer @i eramameflen semtibd,
B erémug 8 g el Gepeures usT ereseflen e,

wHppb C Taug @rieLtumL usr cramseflan semrid erefled,
(MB)xC-(AxC)n(BxC) sfluniésey.

latA-‘l'heutohllmmnlnumbeuleuthans

B=The set of all prime numbers less than 8 . e
‘set of even prime number, Verify that (AB) x C = (A x C)~(B % C).
vfﬂ-l&ﬂmﬁnle-(2.5,8,1;l,l4lcrérum@@5atrri:56ira'hj.:A-»B 2{\
TEID &MY f(x)=3x-1 erans Q&sr@ssiiu Gerarg). @ssrinGaan,

Let f : A - B be a function

’ l‘%".' - ’ (SR ]

I r&‘ ,‘:fﬁ'{ ¥y

C. HR. SEC. SCHOOL
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35. A= <l s ) e ; ; A
: (2 -1 1] wpm B =|-1 4 | grafled (AB)T=BTAT creanmuengé sflumiss.
(RS0

1 9N 2 -1
If A= 1 : A
(2 ) 1] and B =|-1 4 | show that (AB)T =BTAT.
OFs2

36. Garewr Q5 s0Qeul i Capmsdevan erpd Hmieys.

State and prove Angle Bisector theorem.

37.58(54,, —2), (=3, k),:(3, —2) OO (2, 3) pdweuperm YPOH&HTEHE O&mesrL_

BrosTSHen LrliLerey 28 &.Sw@se erafler k -ufen wHUY srems.

Find the value of k, if the area of a quadrilateral is 28 s i i
)y q. units, whos
(_4’ _2), e D), o, =5 o (2, 3) e vertices are

38. 60 5. 2 wyerer Caryrsden 2§89 &l (b 8 C&m G518 o drer
eilaré@é sbUSSean 2 58 wHYLD Sgllen @Qn&ss Camenriigar @mm‘i’g
38° wHmL 60° erafie, efersEa sLUSHen o W TEMSE  &rems
(tan 38° = 0.7813, /3 = 1.732) |

From the top of a tower 60 m high, the ang] i

' , gles of depression of the to
vertical lamp post are observed to be 38° and 60° respectively. FindPﬂf:le\Ci‘got}tszoé‘a
lamp post. (tan 38° = 0.7813, |3 = 173;) g0 1
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39:

40.

41.

oL Ltb 20 Q&.18. o_cer gif 2 (HENET 6UIq6Ud &6 6w Tl @euenermusled 9. Ql&..5.
o WrsHn@ B edreng). opyid 5 Q.. HHID 2wy 4 QF.8. zenLw o QQS]U.J
2 arafLmm e Geors o henar Bfled AppeLOWITS @D GCUg ghu®o Hfler

o Wireneud Hewtddl(hs.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A sTna.ll
non-hollow cylindrical metal of radius 5 cm and height 4 cm is immersed in it
completely. Calculate the rise of water in the glass.

7 Gurliysefd gm ANEQs. oSy @8 @LLmser wpeapGu 70, 80, 60, 50,
40, 90, 95. HL eflvssid SrewTs.

The scores of a cricketer in 7 matches are 70, 80, 60, 50, 40, 90, 95. Find the standard
deviation.

@Qrar® Eyran UsL g6 (peopwns Gr Crrader 2 HLLuBE D).
() @ran® usaLsaigid @Gy Wwswduy Sl és,
(i) pswHlyseiear QUMESHLOE LIST cramamTads e &s,
(i) psLHiyselan amEBSH LGT TaTETTES &L &,
(iv) @a;mﬁuuassfﬂdt HHD 1 -A& QH&S,
o flu Papsfsafan Bapssasmens sramrs.
Two unbiased dice are rolled once. Find the probability of getting :
(i) adoublet (equal numbers on both dice)
(i) the product as a prime number
(iii) the sum as a prime number

\
(iv) the sum as 1 \\

[ #®UYS / Turn over
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42. AB erep GriraGan® <y @Fssamen A wHmid B yereflseafler GleulHEmg.

AB - pHILIyeTafl (2, 3) erafléh AB -ebr FLOGTLIML Lo 6DE0Td: & ITEHTds.

A straight line AB cuts the co-ordinate axes at A and B, If the mid-point of AB is (2, 3),
find the equation of AB.

B(0, y)

A (x,0)

GOILY : emenss, enmés@rs@n efewelssayib,

Note : Answer the following questions.

|
\
\
|
U@S - IV/PART - IV
2x8=16

43. (@) Qsr@ssuu L waCarawd ABC -uGe @55 LGSR 6t 6 HEIF AT .2 T
5

SPLWLIY @ eugCaurss weCareandb auanys. (csumm &miyexf 9)
5

S(6V6VG)
i (=) 5 q&.l.ﬁ. eg,r;@sircn QJ.I'_LgﬁGBT @WESHHHE 10 Q.8 Qﬁﬂmwaﬂ@dwm
e efl udl &8 (g WLLEHD @S QsmHCarBaer eue

: Tweb. G i
QsrhCasrhseien Sortisamans saES (Hs. X e

(a) Construct a triangle similar to a given triangle ABC with its sides equal to § f
o

i the corresponding sides of the triangle ABC., (scale factor 9)
! 5

OR
(b) Draw two tangents from a point which is 10 ¢

f m aw.
I of radius 5 cm. Also measure the lengths of ay from the centre

f .
the tangents. e
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(<) 12— 8x+16=0 erénp @HUIGE FLETUT g6 euayUILLD cuenyhgl Siellen

. STL@WE Fans.

3 S|06VG)

(@) y=2x2-3x-5 -Wenr eaemyu Lib aiarhgl <Bigmars Lweu HHE
22— 4x—6=0 eran FETUTL lgean Sibsa|D. ]

+2_8x+16=0 and state the nature of their

(a) Graph the quadratic equation
solution. : |
OR :

=0.

- Draw tljle graph of y=2xz_—'- 3x—5 and hence solve 2x2—4x—6
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